[\)

©w

Exam I Answers
Math 126 F Autumn 2018

(a) (4 points) § = cos™! ( %Dﬂ)

(b) (3 points) (2%91—52>
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(c) (3 points) x =2 — 5t,y = 5 —3t,z = E—i—t
(4 points) Any plane of the form 2x — 3y — z = d, where d # 0 is correct.

(2 points each) (a) (#37 ;>7 (b) (_77 _%>; (c) (_7’ 11?%)

(a) (4 points) i. parabola; ii. hyperbola; iii. pair of lines; iv. parabola.
(b) (1 point) hyperbolic parabola

¢) (5 points) (5, —1,v/13), (15,9, 3/13)

) (

3 points) v(t) = (t?,0 cost)
2t3 — sint cost

Vit 4 cos? t
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(c) (4 points) r (g) = <;—4 + 1,2,301>

(a) (4 points) (0,—%,—1) and (0,%,—1)

—-10 = —13
(b) (6 points) Yes! They intersect at (T’ 0, T)

(b) (3 points) ar =



